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Intermediate Sent-up Examination - 2021
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Quesion Bookler

o GEOGRAPHY ( ELECTIVE )

A vt ( e )
I A. ( Theory/Jgife® )

oy [FIeg 18(qooq wopIEnd

:

T Hfar gl @ Tl ;28

Fe Tl W g 0 70+ 20 + 6 =96

Tﬂhl!ﬂ.anuuﬂnnl=m"’m+5'95 Total No. of Printed Pages : 28

(W : 362 15 [A7e) (quTie = 70)
| Full Marks : 70 |

| Time : 3 Hours 15 Minutes |

wetenferar & frd A Instructions for the candidates :

q7ismd] OMR 37 WA% WY 9T 1. Candidate must enter his / her
Question Booklet Serial No.

|, (10 Digits) in the OMR Answer

wava ferd | e
! '!-. ! Sheet.

2 l'w'i";l‘l.'i'ﬂfl'r qYTHYE 9 ¥ - andidates are required to give their
I g wers in their own words as fur

3. g AR FIRE X s in the right hand margin
FifFe #vd #1 full marks.

4. T ﬁ'ﬂ‘ 8 of extra time have been
‘???Hi'ﬁﬂi' #15 G iR the candidates to read

. il

Farmrdr 4 the qugstions carefully.

5. 4 A9 §f&Ter 51 @vs]  # —®@VE-H 5. This question booklet is divided into

two sections — Section-A and

vd @UE-T/
Section-B.
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10.

11.

12.

e FHIe & qa &

(A)  tam frareemd @

© (el fowamemd @
Red collar is associated with
(A)  Quinary activity

(C)  Secondary activity
forr % $¥ o Tmi € 2
(A) T R

) @« TR

d
(B) S UILEd Wﬂm
|
(D) AT e
(B) Primary activity

(D)  Tertiary activity

B F

iD)

Which of the following is a Lransport route ?

(A) Panama r::imul

(C) Suez canal
Zia-WEARaA @ T ¢
A Lk

(C) A d

Trans-Siberian is related to
(A) Waterway

(C)  Airway

(B) Kiel canal

(D)  All of these

@) oW ¥
D) ¥ @ HiE TE
(B) Railway

(D) None of these

(323 ] A
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13 g e SRR R

Far e &1 p—
c) oy gwEE
Dover port 1s an example of

(A) Packet port B Ol port

(C)]  Passenger port (D}  All of thest

4. TR A e 9T A g
AA) gl & HeH (B) &I & E2ra
(C) T F WK (D) & @ FE A
Circular pattern of seitlement is found along
(A) the lake (B) .the niver

(C)  the coast (D}  none of these

15. unEl afe @l €
(n)  feoed | B HEsH
©) A (D) o A
Dharavi slum settlement is in
(A)  Delln (B) Mumbai

(C)  London (D)  Chennai

923 |A [11028A] Page 7 of 2




22 A A yad farer SEE A T FE ¥ 2

() fw ) s T
) sifsan (D) T

Which s the most spufﬁtﬂ}' populated state in India ?

[A) Bihar (B) Arunachal Pra desh

(€] Odisha (D) Goa

23 2011 ® SET @ FIER WA @ femaE §
(A} 643 (B) 943
(€ 1054 (D) 525
According to the Census 2011, the sex ratio of India is
(A 643 (B) 943
(C) 1054 (D) 925

by B ] s e aaTd o gas Rl § 2
(A) 3 B) TSR
() #H (D) W
Which of the following is not an indicator of economic development ?

(A) Production (B) Employment

(C]  Incomc (D)  Literacy
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@WvE - A / BECTION - A
Eﬁhﬁ LR / mjﬁl:ﬂ“ Tw- Quultlum

Wy T 1 ﬁ?ﬂﬂﬁﬁmﬁxﬂthmmﬁqwtﬁﬁﬁﬂm
wEE Hﬁmqiﬂﬂﬂﬁﬁmuﬁgnshzwﬁlﬁaﬁ L
35 W¥RI % I AA ¥ | 35 x 1 =38
Question Nos. | to 70 have four options, out of which only one is correct. You hauve
to mark your selected options on the OMR sheet. Only 35 guestions are to be

answered. 35 % 1=35
fey 1 § B Wiewd H0E T 2

() i (B) T = A
o IR E (D) i ST
Which of the following is not a push factor ?

(A) Cold desert (B) Hot dry climate
(C) Productive land (D) High altitude
st sl &1 Fe @@ fha & 2

A5 B) 15

[C] 20 (D) 9
What 1s the total number of economic activities ?

(Al 5 (B) 15

i€l 20 D 9

e
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G- R R S p— Fiw = WHEG AW R o2
(A) Ta ® A
(C)  wTam , D) ¥

Which of the following is not a local name of shifting cultivation 4

(A]  Roca (B) Shilpa
(€} Ladang D Jhum
4. 1 e A e aftae 3eee & fen ofeg @€ 2
(A)  uRa B) e
() Towedg (D) gsH
Which of the following countries is not famous for cocount production ?
(A)  India (B)  Sri Lanka
(C)  Phillippines (D) Sudan
5. ETEN T & wER W @ IE fae § 2
(A)  HE B
(c) @ D) T W WY
Which industry has developed along the Hugli river ?
(A) Colton (B) Jute
(C)  Copper (D)  None of these
6.  arrEm sfeife wev fw o A A ¥ 2
(A) «4 (B) M
(C) WRd D) ®A

In which country is Yokohama industrial region located ?
(A) Russia (B) Japan
(C) India (D) . Spain
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e A @ w1 i Ao ko
. fuemd
(A) . 1B) wﬁa

aem
(©) T

31.

Wwhich of the following is not an industrial town ?

A  Bhilai By |
(c) Salem (D)  Kanpur
32, e @ T &I i H I G e 2
(A) T GETIC B  fa
© I EE D) THES I

which of the following has not been adopted in Green Revolution ?

(A) Traditional techniques (B) Ilrrigation

() Improved sced (D) Chemical fertilizer

33. mwﬁﬁmmt?

() faem B) T W

() AHEAE D) T W

Which of the following states is & producer of coffee ?

(A) Bihar (B) Uttar Pradesh

(<) Tamil Nadu (D) Madhya Pradesh
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52, Taer A o9 amfie T e 7

(A)  HURI B) 9
(€] e D) wqH 1 &l el

Which of the following 1s a trade city ?

(A} Agra (B)  Pur

(C)  Varanasi (D)  None of these
53. [ A @ ®1 v A€l g wwen 7

@) feeed B) W

(C)  ErE s (D) T A HIE A

Which of the following cities is called New flower ?

(A} Delln (B)  Perth

(C)  Addis Ababa (D) None of these

54. TRHA & T §

(A)  HmifeE | (B) FWEYH §
) Tadq D) 8 F T 97

(yoltman is related o
(A]  Megalopolis (B]  Conurbation

(C)  Village (D) None of thesge

1323 ] A @Ek_gfﬂ Page 20 of 28
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34, 98 | w1 sy 3EEE TG § 2

(A) TR B AR
(c) Tafwsm | D) HEATS

Which of the following is & cotton producing state ?

(A}  Bihar (B) Nagaland

(€} Sikkim (D) Maharashtra

35, e d @ i a9 IEEE T T8 ® 2
A A (B) AHEAg

() 3EH (D) TR

Which of the following is not a tea producing state ?

(A)  Kcrala (B) Tamil Nadu
(C) Assam (D) Gujarat
36. G WRA & AL @
(A) AR (B) @
(€ e (D) TEFR
River of castern India is
(A) Narmada (B) Tapti

(C)  Penyar (D) Mahanadi
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o8 9 F1 3y ARA #ARE D

| T
o) =

(A]  Ho
() YR

Which of the following is @ city of north India ?

(A)  Salem (B) Pune
(C)  Dhanbad (D) Chennal

20 wgE g ) & (e S ¥ 2
GV | (B T
T D) @ @ A

On the bank of which river is Lucknow situated ?

(A)  Sarayu | (B) Ganga

(C)]  Gomati (D)  None of these

0. FeH & gl g wfaen @t @t e & 2
(A) TR By e
(C) SRR (D) ¥ F F T
Which pattern of settlement is found along a road ?
(A)  Circular (B)  Linear

(C]  Rectangular (D)  None of these

| 323 ] A [11028-A Page 12 of 28 T




] # T2 §

W g T s b o AR ,.
© A o A g A
Corn belt 18 In

A USA. @B Japan

(C) London (D)  None of these

fr=t o 1 gea HrgifTe! 3T AR § 2

(A) TR ST (B w ST

) o et D) H{E] TR
Which of the following is not a high-tech industry ?

(A)  Electronic apphiances (B) Laser appliances

(C)  Biotechnology | (D) Home appliances
1 § &9 qded | wEd T8 € 2
(A) Tz B) Tafscar wies

() uftees gder (D) T 9§ F 7

Which of the following is not related to tourism ?

(Al Eco-tourism (B)  Medical tourism
(C)  Transport tourism (D) None of (hege

323 A [11028-A Page 5 of 28
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—

2
o

o E AN 6H TR @ gt )

A e
O TR

(B)

(D)

s fer

il 4 i A

with which conunent is Great Lakes walterway associated ?

A) Asii

(C)  Africa

IA) ?:'TET sfeA ?EIT'T

¢ A e S
Food processing industry is
(A)  Agro-based industry

[ Chemical-based industry

fferera @71 el & ?
(A U iR
) fae

Where 1s sihcon forest ?

[A) Sun Francisco

(C)  Delh

— — ———

(B)

(D)

(B)

(D)

(B)

(D]

(B

(D)

(B)

(D)

1 107 {28
3]A [11028-A] Page 21 0

Australia

None of these

s amaifea @
g9 amaifea Fa

Mineral-based industry

Forest-based industry

Seattle

Odisha



64 B R W stvm g @ wafiem o g o

N B FEE
(C)  Fgem o)
Which of the following i not associated with the producti®” of mica ?
(A} Tamil Nadu (B) Jharkhand
(C) Odisha (D) Assam

65, f= # @ & wdly agues & )
A B T
© el D) TEEE
Which of the following is a coastal airport ?
(A} Mumbai (B) Patna
(€} Delhi D)  Guwahati

66. =1 T o @ WNAM T dEs § gatm aw g 7
(A) B) &
(€ e D} N

Which of the foHowing colours is not associated with Indian postal services ?

(A Red B)  Green
(C}  Blue D} Black
67. T H & gwm gam FHifsen o srafie &
(A) =@ (B) HeH
€ FE D s

Which of the following steel plants is situated in Odisha ?
(A) Bokaro (B) Salem

(C)  Durgapur (D) Rourkela
S TT——
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ETE TIRHE 4T Iemy &

(A STURYA FAN &
(B)  tHwge 3TN &
(C) ﬂ"i_c'nTT I & S
D) % ° HE AW

Readymade garment industry g an examp
Ple of

A Basic industry
w (B)  Footloose industry

()  Cottage industry

st T TR T W g §

(D}  None of these

) foefaerrl 1, % B) e = wE

) FEEEER (D) & &

Which of the following is associated with an administrative service ?
(A)  Work of District Plagistrate (B)  Work of Police

(C) Work t:-l"l'c'hsildar (D)  All of these

faTeet &1 @ad &

A aEE A | (B) W AU A

(C]  UREYeRA 9 o) ¥ E @l

Gibraltar is associated with

Sea routes
(A) Airrways (B)

D All of these
1C) Pipcline (®)

_——-—-'-_--__-____
. T e {28
323 | A [11028-A Page 190




58. HEAET uN) fwg 00 § dEd § 7

(A) AT (B s
c) fa@n o) el
Malayalam language is associated with which stale ?
[A) Tamil Nadu (B) Odisha
(C}  Bihar (D) Kerala
50 faer gl 9 9§29 9 @ waEfd € 2
) TR (B
€y e o) THEH e el

Which of the following states is associated with Indo-Aryan language ?

(A)  Bihar (B)  Mcghalaya

C) Kerala () Naone of these

60. =1 3 @ &1 vE UEE IR E 7

(A) AT B &
(C)  HEEE (D) A

Which of the following is an educational town ?

(A) Jamshedpur (B) Roorkee

(C)  Panchmarhi (D) Nainital

323 | A [11028-A] Page 22 of 28
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a6,  far 1 @ Ta 2y &) sl JiE WEHET R 7

(A HEA B S

(C) 3R (D) et

Which of the following countries has low growth rate of population ?
(Al Yemen (B) Denmark

(€)  Oman (D)  Libena

a7. T Teme SgEl O $H STHER UF arpR gl & 918 1 w7

(A g B) A
() e (D) Ged

Which of the following steel plants is situated on the confluence of the Damodar

and Bokaro rnivers ¢
(A)  Durgapur (B) Bokaro

(C)  Bhilai (D) Salem

48.  FFTATH WERYT &

(A)  YHEETRE HE 9 B IHFN

© FUFEH o)
Pineapple is associated Wllh

(A)  Mediterrancan farming B)  Jhum farming

()  Dairy farming (D} Plantation farming

| 323 | A |1 1028-A Page 18 of 28 ———




frrt T el 3T PTIE Y 30-mEy o b o

.0

AL IR LI :
LU Shlhe @) A e

which of the following is not a sub-branch of Economic Geography ?

(A) Geography ol Agriculture B]  Geography of Tourism

() Electoral Geography D)  Geogra phy of Resources
aq AT fAaT A i

oy i e @ T e |

©) v i | (D) s e 8

“I'he study of urban planning is associated with
(A  Physical Geography (B)  Political Geography
() Population chgmphy (D}  Settlement Geography
45, fava & quﬁaaﬁmmﬁﬂwﬁﬁﬁaimﬁmﬂ%
@A) feEr H (B) IR H
) gmH D) ¥ A FHE A
Out of the 10 most populaur countries of the world, 6 countries are located in
(A  Asia (B)  Africa

(C) Europe (D) None of these

323 ] A @E_ﬁ] Page 17 of 28




7. e | & HUF ITRA A Wt g )

(A) IS

lcl HATIT

(B) AT
(D)  wERH

which of the following is associated with mica production ?

(A) Koderma

(C) Ara

1p, TN WIE A IAH & ¥

(A) Eﬂmﬁ

(C) oAl <

(B) Nagpur

(D) Sasaram

B) ST o

D) T I A

Bailadila iron ore producing arca is in

(A) Uttar Pradesh

(C) Telangana

19 Fellel del I 8T 8

() T A

(C) TERTE H

Kalol oil producing arca is in

(A)  Gujarat

(C)]  Maharashtra

(B) Chhattisgarh

(D) None of these

(B) TSEAH

I i

(B) Rajasthan

(D)  Bihar

1323 | A [11028-A
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68.

69.

70.

P R e 3w e o b

(A} T

Which of the following is not associated with non-conventional source of

(B)
(C)  HfrERm -
energy ?

(A]  Lamba ®)
(€ Manikaran (D)
T UGNV &1 HE HROT E

(A) i wEn (B)
) H FE-E D)

The main cause of water pollution is

(A)  Industrial waste (B)
(©) Domestic w;m (D)
figg it sEfeen §

(n) g A (B)
(C) T W H (D)

&

Hirakud project 1s located in
(A Odisha (B)

(C) Madhya Pradesh (D)

qi
™

Barauni
T T A
g ol

Urban dirty water

All of these
CLIGUCR:]
#NGEE |

Chhattisgarh

Jharkhand

323 ] A [11028-A Page 25 of 28




qrﬂéﬂiﬂi?

Ml

w  gifers &3 @)

© e e D) F

What is Mumbai High ?

(A) Petroleum arca (B) Mica arcd

(C)  Urban arca (D)  Agricultu ral arca

o il & e el R A E 2

w  TEF B Y

€ TR (D) ®H

Which of the following is a river of South India ?

(A) Gandak (B) Indus
(D) Son

(C)  Pennar
63, et 1w T Fofl @ waE T 2

(A) AT (B)  TEHIE

() HE D) &M

Which of the following is not associated with atomic cnergy ?

iA]  Tarapur (B) Rawatbhata

(C)  Mathura (D) Kaga

| 323 | A il_]f.g?.:-t_-a[ Page 23 of 28



Wy WEar 21 @ 26 & IAA & | fodt e syt & L | wew % T
5 3 i & 1 ax5=15
Question Nos. 21 to 26 are Long Answer Type. Answer any three guestions. Each
question carries 5 marks. 3x5=15

21. W?ﬁﬁﬂ%ﬂﬂﬂaﬁwaﬂhaﬁfﬁq; S
Describe the characteristics of dairy farming.

22 ORI SR ¥ W@ e AP & Hew Hi avi S |
Describe the importance of Suez canal route in international trade.

o5 SR W AT ) g S
Classify towns on the basis of function.

s vt g A i Pt s aui FC

Describe five characteristics of Indian agriculture.

e 1 HEeT & IR ud faexor i et A

Give an account of production and distribution of coal in India.

Eg.ff”’iﬂaﬁ TR R T diera e fefan |

Write a short essay on noise pollution.

25.

L




@US - ¥ / BECTION - B

H.q ﬁﬁq e ;’ Bhort &nlw&[ w nggﬂﬂﬂs a; 2 ﬁ
m'mlﬁ'ZOanﬂ'ﬂﬂ'i’lﬁFﬂlumﬁﬂFW%”[ 1n=¢2:‘20
Fraifa & . s, Each

tions-
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 quesjﬂ x 2~ 20
question carries 2 marks. 5
(T g faerg & fel & W@ Y2Hi F A JdE0 |
<

Name any two components of human development.
2. frex fovg S @ W € 2

Ritter belongs to which country ?

3. SERRE B ) e S e 9 s geerd T
Mecntion any two factors influencing the density of population.
4 femr-sTEm@ E @ 2

What is sex-ratio ?

-~ i a7 I & < IR & AH ey

el

Name two products of commercial grain farming.
Which is called mother industry ?
__,?.// FHOeHE SANR Gqed F1E ?

What is ncgative balance of trade ?
e & 9R G e e i % A fefa

B
Write the names of four centres of cotton-textile industry of India.
, aqdE YA EE 2
, quaternary services ?
What arc Lju—-.d,ﬁ
R o
323 ]A |1 1028-A page 26 of 28



10. Wﬁﬁaﬂ'ﬂﬁﬁ%
maﬂm%ll 2

Mention the factors Allracyipg
Ng tourists.

11, TR et &1 8 ?

What is outsourcing ?

12, YA Fel @ 92 & WREIR & A ferd

Write the names of two oceans connected by Panama canal.

13. ¥ SAUR 91§ ?

What is free trade ?

14 WA & B fhell TRI & IgRT0] i

Give examples of two foft towns of India.

\LE:" mqfqﬂm% 7

What is barren land ?

et dET F 9R fafudt ®1 Ieei R
Mention four methods of water conservation.

17. ﬂﬂﬁﬁmﬂiﬂﬁ&ﬁaﬁﬁwg—a{{fmﬂgﬁﬁmﬁ%ﬁmfﬁf@m

Name four important postal services used 1n

India.

18. wmmzﬁmm%{mmmmmﬁmwh

Name two Indian states wh

ere atomic energy power plants are in function.

18 e TiER @ el 1 WIS H eerd i

Mention any two problems of road transport.

20, R # 21 U9 GHeAl 1 Ieerd i |

Mention two beverage crops of India.

s
-

1323 | A
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0. a9 9 & 55 6 ada R ?

(A)  FHeTuERT (B) Sta
(€)  TEawiE] o) AT
Which of the following is ncar Kota ?

(Al Kalpakkam (B)  Narord

il Ll I
(C) Rawatbhata (D)  Tarap

41. YHRd &1 W 4 gao 19 %
(A) A (B) A
© woE (p)  ufyes @
The most drought prone state of India 1s
(A) Assam (B) Gujarat
(C)  Ladakh (D)  West Bengal
42, fewell, Hag, 9@g U FTHE VL B AGAAA GgF AN &
o @ g A B) @ =g A
(C)  FeR-zfeqor nieram D) T A/ FE T
Roadway connecting Delhi, Mumbai, Chennai and Kolkata is
(A) Golden triangle way (B)  Golden quadrilateral v ..

(C) North-south corridor (D) None of these

] 323 ] A [11028-A Page 16 of 28




20.

21.

1323 ] A [T1028-A

fea Taet @ SEE! @ §
[Hﬁﬁﬂftﬁf

(C) l(_]ﬁﬂl‘iﬁ EUEH

The population of milhon city 1s

More than one lac

(A)

()  More than ten lacs
e &

(a) T AT

© T AR
Patna 1s

(A)  Mining town
(C)  Capital town
cififed ST @Y @
@A) dfrerrg @
(c) fwrd

Tamil language is related to

(Al Tamil Nadu

(C)  Bihar

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

51:'--7!15'\'3'"'Tf“Eﬁ

More than five lacs

More than fifty 1acs

s T
= | |l

Industrial town

All of these

e 4
SiPom 3

Kerala

Odisha

Page 9 ol 28




WA E Al e seEEn A T @ R 7

22
[A) fawr iB) IO m
(C) Aifgem (D) i
Which 1s the most sparscly populated state in India ?
(A) Bihar (B) Arunachal Pradesh
(] Odisha (D) Goa
23 2011 F wAE & FTER WA I
(A} 043 (B) 943
) 1054 (D) 525
According to the Census 2011, the sex ratio of India is
Al 643 (B) 943
(C) 1054 (D) 925
ya = O FIA HTEF 45T F guF TIE 7
(A) I (B) TSR
€ D)
Which of the following is not an indicator of economic developmen
(A} Production (B)  Employment
IC)  Income (D)  Literacy
23 A [T10254]  pametoor2s _—




EEl i aCRECCIE i il

W T B) @aE

©  fom . © W@
which of the following is not a muung city ?

(A]  Raniganj (B)  Khetri
(C)  Digboi (D) Mathura
26. e Al © B TR e W Rea 2

Ay T B) et
© D) AR

Which of the following cities is situated on sea coast ?

(A) Patna (B) Delhi
() Mumbai D) Jaipur
07, Tamiel vt Wt €
(A EHE B) @& H
© s g @ (D)  wRE] e |

Singrauli is associated with

(A)  Mining (B) Cantonment

(C)]  Industrial unit (D)  Atomic electricity

323 | A '-11023.5 Page 11 of 28




16, Fary of & et o & 2
(A) TR B feeet-wEas
() wEvE-fedaas D) @ A

Which of the following 18 twin cities ?

(A) Patna-Hajpur (B) Delhi-Lucknow

(C}  Hyderabad-Secunderabad (D) None of these
17 o A &9 staifs FRE 2

(A AN (B) =TT

) FHIRYL (D) %™ | a9

Which of the lollowing is an industrial city ?

(A) Hodh Gaya |B) Varanasi
(C)  Jamshedpur (D} All of these

'8 HRA H FUET & CHEE EaeE 9y @

(A) 1921 (B) 1951

(C) 1971 (D) 2001

The year of 'great divide' in Indian census is

(A 1921 (B) 1951

(C) 1971 (D) 2001
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